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1. Problem 3.1	
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2. Problem 3.2	



3. Problem 3.10	



! Page �  of �                                                                       2 8

:
(U

o S. 0
H

)\
ci

o

4.

-4
-, S

C
’

C’
AJ

—
T
h

-
T
h
r.-
J

-1
-

r
p

h
‘1
r4

>?

L
L

II

1

C
l’

-G

%L
.__
__
_J ‘a

I’

1%
Ii

)I
II

ti

-

i
.

I
—

(.
4

1•

+
-v

d
_
_
!
I

1
rj
.s
r.
i

I
.

-
4

-
t-
-

-
T
h

e

0

S

h•1

00Nrv

2;‘4

0

Ii
0

I

2U

%
%
)

,

L
II

‘4

0cN

‘.

I
:



EECS 4214! Assignment 4 Solutions! Fall 2014                                                                                                 

4. Problem 4.1	
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!
5. Problem 4.2	



6. Problem 4.3	
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7. Problem 4.4	
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8. Problem 4.6	
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9. Problem 4.9	



!
!
!
!
!
10. Problem 4.14	
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10. Problem 4.14	
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